
Math 11L6, Quiz#2,Spring 2013 Name {trY

Instructions: show all  work. Be sure to answer al l  parts of each question.

1'. Consider the preference table below. Determine the winner of the election by the plural i ty with
elimination method. Then use your results to rank al l  the renraining candidates.

28 30 5 5 1,6 16
1" choice A c A c B B
2no choice B B c A c A
3'o choice c A B B A c
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2' Suppose that in the table above, the 5 voters that voted A f i rst  and C second, change their  votes
to C f i rst  and A second, as shown below. What is the result  of  the elect ion now and does this
violate the monotonici ty cr i ter ion? Why or why not?

28 30 10 t6 16
1-'t choice A c c B B
2no choice B B A c A
3'o choice c A B A c
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